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AlLXI AT SHAHE 717 AlXI hl_z b5 P §|I-A 1=Ber I
A BAHIRE 2EAY | AW | FME | =EET Rk A 2H8 oY | xYod | AME | - Cas vt
ZYE gq 2| oy Z|x] ZYs g 2| g Z|x]
x}od (oo 7} Q) 144 4,740 32.9 248 4.04 6.08 50.10 34.00 x}od 5 170 5,919 34.8 26.8 4.03 6.27 53.78 41.00

20218H1E ES24R Kk (@-ololz} o)) HESER ST U =2HS BEE 20218H1E ES94R KKl (2%) HESEX ST U =24 BEE
100 100 *
* * *
= — E3 * * * ¥
zo 80 * Zi 80 % *

F * F * * % :
RO * ¥ x 0 £ % * £
du 60 Bk * * * W 60 *’*“**

i £ ¥ £ ,t* * i * % *

*
*ﬁﬁ?“ oRr k% kX ¥ Tk K ORURGE ¢
* *F *
40 * * e ** ** ﬂﬂ?‘k X % % *T kK * 40
20 20
0 (Eﬁfm* 0 shyz
1 2 3 4 5 6 7 SH 1 2 3 4 5 6 7 (E3)
aEEs| 28| gy | B3 HZEAR | azdlaax | 2T sevan - ay um | mxmEx | A3 FolEEn | B8RS e ma
— o o = - ExI_ =
e 238 | S5 olHEE ¥z | aA® | "®2 | 3N HEd ag | 2% umg | s=s oflH|HE =z | N | =2 | AN
7|38t} 20 32.0 24.4 75.0% 7 5297 | 4650 | 397 | 5.16 7|A| 25t} 36 383 28 4 77 8% 8 5817 | 51.00 | 394 | 626
7‘,_‘|7(|—-g—§,|'ﬂ|- 21 39.2 28.2 61 .9% 12 53.69 49.00 3.78 5. 1 9 g}_g__?_z't_gil-ﬂl_ 12 344 268 75.0% 3 55.46 51 _OO 4 03 6. 1 8
ZEE St} 21 55.5 40.3 71.4% 6 57.90 | 49.00 | 411 | 6.08 ZF Motz st} 13 26.4 21.3 69.2% 5 4750 | 4300 | 434 | 557
YESUSHY 12 32.6 26.7 66.7% 4 47.05 | 4250 | 4.03 | 473 Atoizi o Tty 12 343 26.3 83.3% 4 5105 | 4450 | 444 | 555
TR 9 208 16.6 44.4% 6 54.78 | 49.50 | 369 | 4.8 slstz st 24 37.4 | 279 75.0% 7 58.00 | 52.00 | 356 | 503
E s -
S ° 284 1 o0.6% 6 4483 | 3800 | 421 | 551 MHZ Sk} 8 53.4 38.9 75.0% 2 5350 | 50.00 | 427 | 5.66
= Sha 0,
=l 9 17.6 13.0 55.6% 4 4178 | 3850 | 398 | 502 PyepE— 11 582 Do 7 — , 900 | 2500 | as3 | 452
Eh 7 23.3 19.0 85.7% 1 4536 | 3850 | 4.35 5.46 .
afstat o Alaxf2sta} 18 35.4 27.8 55.6% 11 57.44 | 50.50 | 4.29 | 6.27
s tmata 5 21.8 17.8 80.0% 3 4060 | 37.00 | 548 | 6.02 - -
stazstn 5 38.8 30.6 80.0% 1 4560 | 4250 | 479 | 527
AlZd st 3 25.7 19.3 100.0% 0 49.00 | 4750 | 410 | 4.62 »
Z7bN 2 25k (KFA) 5 27.2 21.8 100.0% 0 4920 | 47.00 | 428 | 586
S =HI TR 3 18.3 13,0 66.7% 2 4433 | 3400 | 490 | 5.48 —
=5t 20 31.2 25.6 70.0% 6 50.50 | 4650 | 4.06 | 5.64
OlE} SRS (R} ed) 9 18.6 15.9 88.9% 1 4433 | 4050 | 392 | 502 -
I [EPNPNEE =N 6 24.8 20.7 83.3% 1 4567 | 4100 | 370 | 4.49
Tetu st 7 23.6 17.4 57.1% 2 47.08 | 4550 | 3.45 3.86
2+ 3t at(Rted) 9 47.6 35.8 44.4% 6 49.06 | 44.00 | 4.02 5.72
@ A4 - [ (2]of| z}H)]
e oz HuE AlF Z|=gtA Xt ﬂ-’a‘-?—?}it@.x} =23y LA S
ol ZHE SEE olH|HE = £ Hx = b
o|of| = 10 487.8 63.8 80.0% 2 80.95 | 78.00 | 2.24 | 2.81
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